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[60 %]
B AP A 8914 %

1(a)

Jumlah
1

2]

B1E2F— MR REMKDAFESHK T,

Diagram 1 shows a rectangle which are divided into several parts.

B 1
Diagram 1
a) EHRREIRSHERTHSH, [1 4]
Write the fraction of the whole diagram which is not shaded. [{ mark]
b) H(a) e9EELATH, [1 4]
Convert the answer (a) to percentage. [1 mark]

2(a)

1]

2(b)

1

Jumlah
2

2]

2

B2 2 TMAAMRAKET ey —2fF,
Diagram 2 shows some numbers cut by Abu from newspaper.

SOHHOD

Diagram 2
a) B FaR—ANIMEG 628, HF1H T4, (1 %]
Form the smallest 6-digit number where is the digit 1 is in place value of thousands.
[ mark]
b) #(a) 695 FLH FI2E A, [14]
Round off the answer in (a) to the nearest hundred. [1 mark]
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3 a)B3ETHKIRMRMKE F. Untuk
Diagram 3 shows two numbers values on cards of different shapes. g:nglz ?ii’;
B 3
Diagram 3
TARVAT B FayHED]. 2 %]
The cards are arranged as below.
Solve it. [2 marks] 3(a)

Sl

b)
[ HAMBALI ]

3(b)
JIh A FERFHFEGLL, [144] jl
State the ratio of letter A to all letters in the words above. [1 mark]
Jumlah
3
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4(a)

1]

4(b)

3]

Jumlah
4

7]

025/2

Yo BHEANMTFEE S 100me 4, EEZIART? 141

A jar filled with 32¢ of syrup.
How many cups required if each cup can be filled with 100m€ of syrup? [1 mark)

b) £4 2 FAMKHHENEKEE,
Table 4 shows the load limit water jar for two types of juice.

2 /N
: P 258
2 jars of watermelon juice
3E LT :
. vy 15¢
3 jars of guava juice
4
Table 4
WL s, HHE 4SBT 6B E LT EAR. (3 %]
Calculate the total volume, in £, 4 jars of watermelon juice and 6 jars of
[3 marks]

guava juice.
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6(2)

6(b)

Jumlah
6

3]

025/2
6 Bo6ITLiAltmFeaystis.
Diagram 6 shows a conversation between Mazlee and Lisa.
HeFRTIE D ~FEH =t 4%,
®7 One thousand five
What is the price of &% A m oF hundred and twenty
your handphone? ringgit.
Diagram 6
a) VARF B WA A FALAI A [14%]
Write the price of Lisa’s handphone in numeral. [1 mark]
b) L% 64 e F LAY A R R I 0% B F ey rds ey 1% d&s
B % Al A R FaLe) i dé . [2 2]
The price of Mazlee’s handphone is l% times of Lisa’s handphone.
Calculate the price of Mazlee’s handphone. [2 marks]
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. = o o Untuk
7 M7 EFEAEEABHESLL. Paoernil
Diagram 7 shows a hexagon that is placed on the protractor. Pemeriksa
A 7
Diagram 7
a) 5 x AR [1 4]
State the value of angle x. [1 mark] 7(a)
ﬂ
b) E i E@AKHE. 24
State the characteristics of the shape above. [2 marks)
7(b)
Bilangan sisi Bilangan bgcu
P F AHRE |
¢) #¥AF lem % lem BT LS H—AERA 36cm? KT 2 %]
On the lem % Icm grids below, draw a rectangular with the area of 36cm?.  [2 marks]
7(c)
2]
Jumlah
7

L B 5]
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Untuk
Kegunaan |8 *HAKMA T 1.8 kg @hr 80 = £ 414 4 MaR ey B b,
Pemeriksa 9
Madam Yap makes 4 similar breads by using %4— of 1.8kg flour.
a) #HUFAGLEES ) kgt @H? 2 %]
How much flour, in kg, is used to make all the breads? [2 marks)
8(a)
2]
b) #ME—ABELERAF ) gtyEH? 2 4]
How much flour, in g, is used to make each bread? [2 marks]
8(b)
2]
Jumlah
8
7]
8
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9 BIEFATFAREHH M,

Diagram 9 shows Azman's dinner time.

Diagram 9

a) ¥A24 DESIHEEE S A B, [14]

State the time in the 24-hour system.

NS 23 P RN S
VA 24 DRI, BT ARMENR 2,
Azman takes % hour for his dinner.

At what time, in 24-hour system, does he finish his dinner.

c) EUTHIHBEEG4, UATLZZRBRENTZ.
Draw the minute hand on the clock face below to show the time Azman
finishes his dinner.

PEPERIKSAAN PERCUBAAN UPSR 2018

[1 mark]

[1%]

[1 mark]
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9(a)

9(b)

9(c)

1]

Jumlah
9

7]
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10(a)

10(b)

Jumlah
10

02572
10 810 RSB, CFOKAEAB KRS .
Diagram 10 shows a combination shape. CF is% of AB.
A 10
Diagram 10
a) WmAh¥is, FHEENABHGER, [3 4]
Find the area, in m?, of the whole diagram. [3 marks]

b) RFEE 10, EWLEDAEZHET &A%, Bk T —AH#=F# DEF,
VAm AL HHEAS AR B 2 %)
Based on the diagram 10, Alice draws a straight line from D to E and

builds a new triangle DEF.
Calculate the area, in m?, of the new triangle. [2 marks]

10
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The pie chart shows the percentages of the allocation of Malik's income in a month
The percentages for savings is not shown.

oA THHBELE A Sk
percentages of the allocation of Maliks income

iEE
Savings|
#®XE .
Give parents H% R
15% Daily needs
40%
R
Bills
15% / R EF K
Car installment
20%

a) #ESEITWE S aqsi?

[147]
What is the percentages of his income that is used for savings? [ mark]

b) BA|EA A #E RM560.
HELAH AT,

[2 4]
Malik savings RM560 every month.
Calculate Malik's monthly income

[2 marks]
) EFAH, ARERFKSESTHLATS 4 %.
HHES AR ET K. [2 %]
In June, the percentage of allocation of the income for car installment has
decreased by 4 %.
Calculate the total amount of car installment in June. [2 marks]

025/2
Untuk

Kegunaan
Pemeriksa

11(a)

11(c)

Jumlah

11

11
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Untuk
Kegunaan | 12 B 12 2T METHBRIKE.

Pemeriksa Diagram 12 shows the number of sweels in a bottle.

e &
S @

40 FxE £

40 sweets

A 12
Diagram 12

HEXEET ISHARKEHHER.

AREHKN L AFET%.
AAOARFHoRFLMOR,
REOROBERU TR OROERRKENDEIZ—,
Puan Nurul buys 15 bottles of similar sweets.

: of the total number of sweets is strawberry flavoured.

The remaining sweets are grapes and mulberry flavoured.

The number of mulberry flavoured is quarter of the number of grapes flavoured
sweetrs.

a) HEFEoROBRKE.

(2 9]
Calculate the number of strawberry flavoured sweets.

[2 marks]
12(2)

b) HHAHURERUFSHEREHLENS I

[3 73]
Calculate the fractions of mulberry flavoured of all the sweets.

[3 marks]
12(b)

3]

Jumlah
12

5]
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Table 13 shows the amount of money that had been donated by 10 pupils for charity.

T RMI10 | RMS5 RM2 RM1
Money

$FadAH 5 5 g i
Number of pupils

a) FH A EEIBAAE,
State the mode of the data above.

b) HHE 10 LFAERKNFHE.
Calculate the mean of money donated by 10 pupils.

¢) RAEX 13, TAUTEHLEFHE.
Complete the pictograph below to represent the data in Table 13.
RM 10
RM 5
RM 2 @
RM1

ORrRA 1424

represent 1 pupil

13
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[147]
[1 mark]

[24%]
[2 marks]

[2 4]
[2 marks]
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13(a)

13(b)

13(c)

Jumlah
13
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14(a)

14(b)

Jumlah
14

5]

025/2

14 B4 -XERAFHIDE, REZH<HEHBHKE.

Diagram 14 shows the date that Azmi starts working. His off days are on every
Saturday and Sunday.

&

20183 A 128
12 MARCH 2018

EH—
MONDAY

K 14
Diagram 14
a) HHEXEHE20I8F= A48 T/ERHK. [2 4]
Calculate the number of days that Azmi work in March 2018. [2 marks]

b) XEFAEHARMS0. MAETHBMGENZHMEMIES DB, nfEBtE
J B RM9 .
HHEXERA 2018 F=ZABNELIR. 3 4]
Azmi is paid RM80 per day. He works overtime for 3 hours on every Friday
and is paid overtime allowance of RM9 per hour.
Calculate the total income received by Azmi in March 2018. [3 marks]
- wm t YI Y
)\"m-’] \%', A ",\.: - F\‘ e

Fzrﬂ.ol X 5 X 3

-em §|

14
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Table 15 shows the basic materials needed to make a dough of cookies.

2 e HE (9
_ Material : ' Mass (g)

& A

Flour 500

&

Sugar 3

4 id

Butter 250 Eid

£ 15
Table 15

a) kg A¥LE, FHEHG— BB T@RFEHEYH, Bt a0 RE.
Calculate the total mass, in kg, of flour, sugar and butter needed to make
a dough of cookies.

b) ARBE 15, H4H&ETH A& 80 25T,
BWAERARIMEN 32 HITR, H484 50 3554 T.
kg AR, HEBWMBEAANELHHERE.
Based on Table 15, each dough can produce 80 pieces of cookies.
Puan Marina has received 32 containers of orders from her customer.
Each container contains 50 pieces of cookies.
Calculate total mass, in kg, sugar needed by Puan Marina.

- REZTE -
15
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